Part number: 91132401

Opel Frontera
Opel Frontera Sport ﬂ
1988 —» * '

2480 kg 112kg

D

- waarde
. value
Wert

EC 94/20
valeur

Type: 024341

00-1329 2800 kg 12,9kN

09-12-1998

Page 116



Part number: 91132401

2x M12x1,25x70 (10.9)
5% M12x1,25x35

1x M12x1,25x90

2x M16x50

19-24 mm

2x M16

e @ Bz
. g "

@ -]'; N ’

19-24 mm

3x M12 @30x13x6
3xM12

BQD::::[]E] ——
19-24 3 Sx M12xt,25
mm ( 2x M16

Page 2 /10



Part number: 91132401

M12x1.25x70 (10.9)

1TM12x 1.25x35: 87 Nm
22M12x1.25x 70 (10.9) : 125 Nm
3: M6 x 50 : 195 Nm

Page 3/6




Part number: 91132401

Page 4/6



Part number: 91132401

Page 5/6



